
1) Decrease 48 by 1/12

Answer: ____________

2) Decrease 25 by 84%

Answer: ____________

3)
14  Find Volume of 
               12       Cylinder 

Answer: ____________

4) 19 x 89

Answer: ____________

5) A number was shared in the ratio 8:9. 
The larger share was 36. What was 
the smaller amount?

Answer: ____________

6) A number was shared in the ratio 8:9. 
The larger share was 36. What was 
the smaller amount?

Answer: ____________

7) Find perimeter of 
triangle
a = 96 ft , b = 97 ft

Answer: ____________

8) 92 - 17

Answer: ____________

9) Find the median of the following set of data:

9, 32, 38

Answer: ____________

10) Solve 8j2 - 7j - 4 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

11) Simplify 3:7

Answer: ____________

12) 07:44 am To 10:23 am

Answer: ____________

13) 6000 ÷ 1000

Answer: ____________

14) 288 ÷ (-18)

Answer: ____________

15) Solve 18s2 + 10s - 13 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________
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16) Factorise 8f2 + 24f + 16

Answer: ____________

17) 88 - 56

Answer: ____________

18) Share 21 in the ratio 2:1

Answer: ____________

19) 12 x 10

Answer: ____________

20) 100 x 61

Answer: ____________

Total: ___ / 20
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Answers:

1) 44 2) 4 3) 6333.450789637 4) 1691 5) 32 6) 32 7) 290ft

8) 75 9) 32 10) j = 1.3 or -0.4 11) 3 : 7 12) 02 Hours 39 Mins 13) 6 14) -16

15) s = 0.6 or -1.2 16) (8f + 16)(f + 8) 17) 32 18) 7 : 14 19) 120 20) 6100
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